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1 RE ERICELI] 1 720
2 RE A 3 1000
3 RE Epdl) 2 630
4 rE I EEE 3 1650
5 RE WK M 2 1000
6 RE (ST 1 720
7 RE B ok 1 720
8 RE MRLTAE 4 1260
9 RE R = 1 720
10 RE i 4 2500
11 RE VRIS 2 680
12 rE ] e 1 720
13 RE EE 1 720
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1 il EANTTESS 1 720
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4 il PRIz Tl 3 1600
5 il kA% 1 720
6 il o/ e 2 1200
7 il LYIEZS 1 720
8 il PN 1 720
9 il PR H 1 720
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2 TN P E 1 720
3 T Rk 1 720
4 TN AHE 4 1360
3520
1 Je il 3 740
2 Je il KAE 1 720
3 Je FNES- 1 720
4 Je il AR 1 720
5 Je K 4 il 1 720
6 J& KRALRE 1 720
7 Je KIEF 1 720
8 Je il 4K B 1 720
9 Je RIKIR 4 1300
10 JE KA 4 1000
8080
1 I 255 M 1 720
2 ]l ok e 1 720
3 el SN 4 1600
4 ol MRk 2 720
5 | FRAEAE 2 1080
6 ol RATI 4 900
7 | Wk SR 1 720
8 ol HHERAK 1 720
9 ol L2 e 1 720
10 ol gt 4 750
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11 ol R R 1 720
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1 She TR 1 720
2 She7 BEEEK 1 720
3 She SRS 1 720
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1 il MR = 3 660
2 BN &N 1 720
3 A MR35 2 800
4 N e 2 1440
5 A IR R 1 720
6 il Gt 1 720
7 A 5K IR 2 760
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1 =i 2SN 3 1170
2 S Y 1 720
3 =i MR 7K 4 2210
4 5 JE MR 1 720
5 S 179 2 1440
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7 B R 5K 4 1 670
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1 ik BT 7K 3 1650
2 1IES LR 1 720
3 3k Wiz 1 720
4 1IES B 75 R 4 880
5 =k IR 2L 2 1100
6 3k ERIES 3 800
7 =k MR 3 1000
8 1IES e = 1 720
9 =k 2k # 1 720
10 =k 2/ 3=:9n% 6 3000
11 th Sk o/ St 3 900
12 =k Bk, 1 720
13 th Sk B R 2 900
14 3k IR & 1 720
15 th Sk PR 3 800
16 3k WeIRE 3 1000
17 =k DRI 1 720
18 =k Pk 1 720
19 =k SN 3 900
20 3k EHEES 1 720
19410
1 e &R 1 720
2 e PRI 3 800
3 T ZEh0 K 1 720
4 e R B 3 1350
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6 & ZEHX 1 720
7 5 2B 1 720
8 & Y 3 1500
9 & R E 1 720
10 & ZRT 3 1570
11 o 2= 3R 1 720
12 T 2R 1 720
13 o FEHF 3 1270
14 & RPN 1 720
15 5 =i 2 720
13690
1 =10 W PR 2 1340
2 =0 HMER 2 1340
3 =T W 1 720
4 T B 35 X 1 720
5 =10 3R 1 720
6 =T B SRR 3 1200
7 E=a [l T 3 1000
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3 Ak 2K B 2 600
1 IS 2= 1 720
5 Ak MK 2 500




2020F8 A 1 A ST B IR A S RIE & X IR & R BHE L A — R

£A]: REe LAY
FS| #35l e A# Er ] -pas
6 GIRES AF5H) 2 1000
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8 GIRES = 1 720
9 it ikt 1 720
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1 N W) 1 720
2 N VLM 1 720
3 N WEE 1 720
4 N RYERE 2 1440
5 BN WH) 55 1 720
6 N HHRIE 3 2160
6480
1 K I 7% 1 720
2 I S 3 2160
3 K I F R 1 720
4 I FiTiz 2 940
5 Kl Tt 3 2160
6 I T 3 1320
7 K TEL 3 1270
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1 bt o 1 720
2 Wyt RFE 2 1440
3 iyt JtKHE 1 720
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4 W JurEL 1 720
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2 Jabi JEAH 3 1270
3 JE It JuEHE 1 720
4 Jabt Jusrk 1 720
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1 il =Y 3 2160
2 il R AR 3 660
3 Him) LINERIS 1 720
4 il NS 1 720
5 il MR 1 720
6 il MREESR 1 720
7 il MRIEETT 1 720
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9 il MRS 2 1440
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3 CES B R 1 720
4 EES R 4 990
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6 P g 1 720
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2 77 PRI 2 780
3 EJ7 TR 1 720
4 iy HAL A 1 720
5 EJ5 ECES 1 720
6 i) TG IT 1 720
7 i3 TR 1 720
8 iy T 1 720
9 EJ5 TR 1 720
10 iy T 3 900
11 EJ7 TH I 1 720
12 77 K3 Hi 1 720
13 EJ5 GISE RN 1 720
14 iy LRt 1 720
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1 A PRI A 1 720
2 T Wik 3 1440
3 A Rk < 3 720
4 T M 3 2160
5 A KA 3 1440
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6 A G ST 1 720
7 A S 1 720
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9 T KI5 54 1 720
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12 A sk K n 1 720
13 T 5k EAR 4 1160
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3 N ] W e 3 1300
4 P B ik 1 720
5 A ] HH 2k 3 1000
6 ] E RO 1 720
7 R B REAR 1 720
8 RG] P IR B 3 1500
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1 P RHI 3 1000
2 T i NAR 1 720
3 P N 1 720
4 T LANTIIRES 1 720
5 Y N=E 1 720
6 T oK g 1 720
7 P oK HE 2 1000
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9 T RE 1 720
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5 274 oK S 1 1 720
6 +z (ISiiT57 1 720
7 +3% 7K 55 1 720
8 + B2 4 1100
9 273 EIQIIE 3 1200
10 t ¥z ISR S 1 720
11 +3% TR 1 720
12 t ¥z Tk F e 1 720
13 273 IS 1 720
14 + 4% gk Ak 1 720
15 273 kK iE 1 720
16 t ¥z K T 2 1180
17 +¥% oK R 5 1200
18 t ¥z M 3 1200
19 + 47 LINTRRS 3 1800
20 Tt ¥z KK E 1 720
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24 + MR 1 720
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1 Al ke 1 720
2 Bl STl 1 720
3 Al Tk E 1 720
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5 Al ISR 1 720
6 Bl ik 4H 5 4 1000
7 2l (& 1 720
8 2l gk H 4 1 720
9 Al RS 1 720
7040
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1 Wil R R 3 1170
2 | WWE WK A 2 1440
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4 M MoK Zs 1 720
5 SuIpE: IS4 1 720
6 Nl ) 3 1200
7 SIIpE: Mtk 4 1560
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2 ik Mk 1 720
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6 bt 5K %2 T 1 720
7 bR TR AR 1 720
8 bt 5K K ZE 1 720
9 bR gk i R 1 720
10 biE | Sviag 1 720
11 bR b iibeid 1 720
12 bt Qe 3 2160
13 bR 7K AR 1 720
14 i 5K K ik 1 720
15 bR kKA 6 500
16 bt JE 5 1350
16050
1 hnik £t 7K 1 720
2 Inik R, 3 1200
3 hnik LG 1 720
4 Inik A 2 700
5 hnik 4= 4 1500
6 pilip fhoRe 1 720
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1 RE W 1 1 20
2 RE WA I 3 20
3 RE W3k 2 20
4 RE W REE 3 20
5 RE W WK A 2 20
6 RE KR 1 20
7 RE ERUPS 1 20
8 RE Mrerie 4 20
9 RE R == 1 20
10 RE IR 4 20
11 RE IRV 2 20
12 RE o [ 1 20
13 RE WM 1 20
260
1 il RN 2 1 20
2 i SR 1 20
3 i PERK I 2 20
4 il PRI T 3 20
5 L ol 1 20
6 i PhE R 2 20
7 i L IIEZR 1 20
8 L [ FNLW 1 20
9 i 1 GN 1 20
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1 EW 21l 1 20
2 W 2R 1 20
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4 TN MAtia 4 20

80
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6 Ja KALAE 1 20
7 Ja il AL 1 20
8 Ja RIK 1 20
9 Ja il RIKIR 4 20
10 Ja K 4 20
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1 ol 25 M 1 20
2 I W 2 1% 1 20
3 I FRIEUT 4 20
4 ol MRk n 2 20
5 ol FRAELE 2 20
6 I ESIN 4 20
7 ol R S 1 20
8 ol AR K 1 20
9 I L2 1 20
10 I gty 4 20
11 ol R R 1 20
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3 3% A 1 20
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1 I MR ® 3 20
2 I WROCAL 1 20
3 N PR 2 20
4 I e A 2 20
5 A PIRR 1 20
6 A gk 44 1 20
7 I 5K AN 2 20
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1 =1 LA 3 20
2 = Evs 1 20
3 =y FRHE 7K 4 20
4 =1 MR 1 20
5 = X 2 20
6 =) REH 3 20
7 = 7K 2 1 20

140
1 3k WK 3 20
2 sk W40l 1 20
3 3k LAY 1 20
4 =k 77 A 4 20
5 =k Wi % 2 20
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6 3k ERIES 3 20
7 3k MIBGE 3 20
8 sk wehn & 1 20
9 sk e 2 1 20
10 3k Wk 2 6 20
11 Sk < 2 3 20
12 sk 0/ Sei e 1 20
13 3k e R 2 20
14 3k N 1 20
15 sk B PR < 3 20
16 =k BisUHE 3 20
17 HIPS WRIF IR 1 20
18 sk #hHIs 1 20
19 sk SN 3 20
20 3k B E 2R 1 20
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1 W e Z&E 1 20
2 W PRNE 3 20
3 W e 2 TR 1 20
4 W e R B 3 20
5 W T I 1 20
6 T e 2= HX 1 20
7 W e =55 1 20
8 W e B 3 20
9 T e PR 1 20
10 W I 2T 3 20
11 i & 2= R 1 20
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6 5 10 R SR 3 20
7 =0 B S 3 20
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1 IS B EIF 4 20
2 [HRES 2= Jpih 5 20
3 IRES EPE S 2 20
4 IS 2= 1 20
5 ATt MR 2 20
6 [HRES 275 2 20
7 IS 2= R AR 2 20
8 ATt EEPA 1 20
9 ATt M 1 20
10 At KA 3 20
11 RS JEIR S 3 20
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140
1 TEAN R B 1 20
2 it RF5% 2 20
3 ot PWNE| 1 20
1 it JeAE A, 1 20
5 iyt peiil 1 20
6 Wyt JLiER 1 20
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8 bt Juit e 1 20
9 iyt Jeatr 3 20
10 Wi JEHIR 2 20
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4 jim Mgt 1 20
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6 Ll PRI 1 20
7 Jil) PRIEZELL 1 20
8 jim) ke 3 20
9 Jil) PRI 2 20
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1 LS FFHE 3 20
2 LS P 1 20
3 S PR 1 20
4 LS PRI 4 20
5 [LES BT 4 20
6 S PR ] 1 20

120
1 k7 VRN 3 20
2 EJ5 RIS 2 20
3 k7 TORAT 1 20
4 i) TR Ah 1 20
5 i) G55 1 20
6 EJ5 P IT 1 20
7 ;) AT 1 20
8 5 B4 1 20
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1 L WRIE A 1 20
2 A ik 3 20
3 A ok < 3 20
4 L AR 3 20
5 L 5K 3 20
6 L G ST 1 20
7 A G SEL ) 1 20
8 A oK< il 4 20
9 L 5K IG5 1 20
10 A 5K 3% 1 20
11 A 5K 4 20
12 A gk 7K 2 1 20
13 A gk LA 4 20
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1 P EIR 1 20
2 P WA 2 20
3 P A 3 20
4 SR B EIK 1 20
5 P Bk 3 20
6 P Wk 1 20

21, 2570




20204£8 H 11y N GLsR AR A 7 O P i 2 ] M D0 RE e S TBA e 44 M — B3k

A7 AEkEE ¥ 4570
7 R E R 1 20
8 Pl R AL 3 20
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2 T AN 1 20
3 i Mt B 1 20
4 Y AN 1 20
5 Y NE 1 20
6 T MK o 1 20
7 T MoK HE 2 20
8 Y INANS 3 20
9 T RE S 1 20
10 Y N 1 20
11 Y Fhria 3 20
220
1 +37 AN IR 2 20
2 B : 74 i 2 20
3 +47 (NS 4 20
4 7 5K A H 1 20
5 +15 gk 4x 1 1 20
6 b7 Gl 1 20
7 Tt bz | S=e3! 1 20
8 + 4z oK Al 4 20
9 +¥% EIQITE 3 20
10 b7 ISR 1 20
11 +37 FRARER 1 20
12 Ttz K75 1 20
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23 7 KR 3 20
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25 273 KA R 1 20
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6 LR T 3 20
7 NIl Mo e 4 20
8 N B3 4 20

160
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2 bR MR 1 20
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4 bR 7 e 3 20
5 bR Tk £ 3 20
6 bR SN 1 20
7 b s AR 1 20
8 bt 5K K ZE 1 20
9 bR (| SE8 1 20
10 bR G| Sz 1 20
11 bk TR BRIt 1 20
12 bR G 3 20
13 bR K R 1 20
14 iR gk 7K 3k 1 20
15 bR KK AE 6 20
16 b JE R A 5 20
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